REVIEW OF LOGARITHMIC AND EXPONENTIAL FUNCTIONS
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2. Complete the following table.
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3. In the ec.{.uation vy =log, x, what is the meaning of log, ? boes it répreé;ent a number? If not, what does it represent?
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5. Use the provided grids to sketch the graphs of the functions f(x)=2" and g(x)=log, x. How are the two functions
related to each other? How are their graphs related
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6. After consuming 16 energy drinks and 22 hamburgers, Andrew decided that he had enough energy to tackle his math
homework. The excessive food and drink made Andrew so hyper that he hurried through his work without giving it
much thought. The following are samples of his work. Has Andrew applied valid mathematical reasoning? Explain.
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P vert ”Y

gp fq
Horizontal Vertical Hovizontal ' Vertical
i, COmr)reSS lﬁy a 1, Strelch by q 7@-(/1& 1, S/’m(%f IQ‘H'% um{; 1. va/'ws_v /9
fachr of %) of 15, yeflectin|l. Strelch by a ___fador of &
refect in y-axis X=aGxIg fockor of 3 i
& . Translale 3 |R Translufe c- Lo Trarsle 5 )
> Lyonsia 2 1, Shefeh by « n%c/vr? wnits up
units o Thae 1 unrf (/(/9 of 3 ‘
rlth . Shet 4 Unds fﬁ%)\ By 5 O
v “\
(¢} Now express both transformations in mapping notation. al }-/élr Ry ausud v
gop (1.3) > (3% 5, '"15\/ 5 \) f>q (x,y)—>(3?<—ﬁ‘} ﬁ;‘y+ 5)
(d}  Finally, by applying the transformations to a few key points on the graphs of fand g, sketch the graphs of g and p.
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8. Complete the following table. Remember that a counterexample is sufficient to demonstrate that a statement is false.
However, a general proof is required to demonstrate that a statement is true. Also recall that when the base of a
loganthm is omltted itis usually assumed to mean 10g to the base 10.”
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To obtain the graph of y =log, Jx , compress the

graph of y =log, x vertically by a factor of % :
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To obtain the graph of y = log% , translate the

graph of y =logx down 1 unit.
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9. Why is it not possible to evaluate the logarithm of zero or a negative number? Give examples to illustrate your
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Recull that Jor all exponsntial Junchiome Flx)=a”,
a>0 amﬂ/ A 5= Z,a Sine /Ogari‘%mrt “Jéﬂ/}f?['?‘(?/ﬁ are
the invtrses of- EA,V&”MWH&I/ bunct on S b same restaction
must af/?/y' 7 them. IF a were allwed do be rg éf}é\/@
{7{@ ;ﬁggb{/-ﬁng Funchons M/L?M/ﬁ{ bc ver)/ 5&6'{/y ée/fwe/ Jl4_§7L
like Funchons of the Hrm Fi)=a hire a< O

1. You are given a solution of hydrochloric acid with a pH of 1.7 and are asked to increase its pH by 1.4,
(a) Determine the factor by which you would need to dilute the solution.
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(b) If the solution originally had a pH of 2.2 and you were asked to increase its pH by 1.4, would you dilute by the
same factor that you calculated in (2)? Explain.
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